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Section B (40 marks) Working steps must be shown in answering questions in this
section unless specified otherwise.
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31(a). S5x5+45x3x4 2
=85 2
The area of the plastic sheet is 85cm?.
5x5+45x3x4 2
=85 2
WP ehn f 2_85cm” 4
31(b). 500+75 2
=6...50 2
6 boxes can be fully filled at most.
500+75 2
= 6 50 2
BEIVEROE o 4
32(a). 89.6+205.2 2
=294.8 5
He should pay $294.8.
89.6+205.2 2
=294.8 2
fs ):71:% f’j #$2948 ° 4
32(b). | My father should use the _voucher  in order to pay less.
§ Ry v X A FEERADIRR 2
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33(a).

33(b).

34(a).
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The perimeter is . (Give your answer with a unit)
R 48cm - (FHP B H ) 2
Parallelogram should be obtained.
vEn_ LA A ° 2
Miss Leung’s snack shop is in the_southeast from the
Exit.
Plu@Eeptiva de - )
S a7 2
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=215
There were 21§kg almonds in Miss Leung’s snack shop.
80 24§ 33z
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=147, :
The difference is 141—0kg.
7 9 3
5410+3610—7710 2
3 2
= 1410 :
& dehp Fgfe ki f e AR A 141—0kg o 4
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36(a).

36(b).
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35(a). | 228x3+228+2 2
=798 5
The four of them should pay $798.
228%34228+2 2
=798 2
e A X E$798 o 4
35(b). They should have the lunch buffet at _ Delicious
Restaurant so as to pay less.
ta {9 A ER>Y %}ﬁciflgéiﬁ%?ﬁﬁ")o o)
255 umbrellas were sold in the first quarter.
yF-Fx8gd 255 oo 2
Because The income of umbrellas in April was:
¥ % 29%x75 =$2175,
The income of umbrellas in May was:
33x70 =$2310,
2310> 2175 3
(Accept any other reasonable explanation)
e B e e~ §_ 29%X75 = 82175 >
I8 Ao~ F_ 1 33x70=82310 -
2310> 2175 3
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